Rechnen mit Dezimalzahlen und gemeinen Briichen

Karte 11 - Vermischte Aufgaben

a)

g9)

(4,25 +2,95): 0,5 =

190:47,5+ 3,252 =

(172,4 - 60,8) : (48,1 - 1,6) =

4,872 :1,2-82+0,03 =

b)

d)

h)

(51-0,34):1,7 =

5,25:1,5-49,7:124,25 =

30,534 : 7,27 - 1,128 : 0,94 =

4,5+ (49,07 - 57,2 + 0,25) =

Rechnen mit Dezimalzahlen und gemeinen Briichen

Karte 11 - Vermischte Aufgaben

a)

g9)

(4,25 +2,95): 0,5 =
7,2:05 =144

190:47,5+ 3,252 =
4+ 16,64 = 20,64

(172,4 - 60,8) : (48,1 - 1,6) =
111,6 : 46,5 = 2,4

4,872 :1,2-82+0,03 =
4,06-2,46=1,6

b)

d)

h)

(51-0,34):1,7 =
476:1,7=28

5,25:1,5-49,7:124,25 =
35-0,4=31

30,534 : 7,27 - 1,128 : 0,94 =
42-12=3

4,5+ (49,07 - 57,2 + 0,25) =

4,5+ (49,07 - 14,3) =
4,5+ 34,77 = 156,465




